QTR AR | Code T LS 0202]  FaATE: A
A3}

AL ARHAE |7 A

P
g2 NEE |4 00~ [Z2IlcH H2APL LS
) Z¥AGAE BN FSAL[01~02[47159 FBATF o] FF
2) (T3 FHEEHA 98~ |B71EY AEATI o gy
A9l § of [z Fah Byne) FRML A4S, 4 17

1. ASHEY 227
[27dwd]

O

O

O

O O O O
et o

O
N

H =l W AlsE A5d R EX0]EE Aol die #SHE
Zane AuidAo]l soluva s 1('98)40.8— ('01) 270ha)
ne 252 A= F A ARl BE B V|5 AR A=

= =
TS T

AR AudAE 19 FHit7e 4TCodA91eE HAAY -1
0C o]z AARFY] & OP%W S AwrlE A 18
2R FF7] olsd wWE &S 109 19 IIFdH 109 10
&S Aoy 108 219 3% 32%, 119 59 3% 241%=
AstE A, FHE 109 10¥ 35S gAgdoy 10¥9219 9=
6%, 119 59 251% = 3577} = @445 42 (98. ZA])
STHEA Y v 2rA AujA] A9 gF7] @ FE7E Welzt A
LEbtom o]o tigh dAxpwe] 4+ B a('01. A7)

2

22 99 o] F7F FA(CR U5E- 0L TR 4% &
F&AtEE AuiaA F7F FA41('98. 600ha— '00. 650, 8% <)
GGl ge} £ B FRPess] Wl F.097. A7)
ATolA  EHzA 2 AT

5 5 4% ARC0L A7)

(F el

ot B b

U D7
ol Hd ox ¥
o,
~N



thg], AR 7 o] w9k

of Qo] weh 1ol

pzs

=

-
j
LN

atol A

S

B
o], 104915¢ H 3

2A] QoA w77}

1

2 2ol H]

=

4
O }\Hz

= O
o

3L

MU IFZIAN Qof
™

O 34,

2.

= 10¥5Y He
o] 69 104
10959 B2 aFA] Al

3}7d ol A
13 2]

=
T
=<

A7

o7}

o

O Hy

T
™

2

[

=1

&M %

=

=

o

GEA AE

=

o 4=
¥ o|e}7}

ST
X

ol A

Mo
ol

To-

JJo
—

o)
=

<ol 64 10

3

)

Njo
2}

21 2)(6

#

=
[}

7]
JOHRIE LIN=E

A 7}7]

4. AT HEITLNS

3.

Mo
2t

pze)

)A
:.AE

- NPOKO = 91-74-39

1109 5¢, 10¢ 15¢

o A&
- Al (kg/10a)

e

03 % 7]
o Al A




=R B £ B8 X
ATW 11111
Ne o == @ o =
MBS g 8 S g
m)9.oo.9.3.1.
. ww%%%%mmw
~ =
ajo o Nq
— 0 J_— Py
T X B[
Il I ThhLls 2 2 2 2
N Hlo ~ @ -
@nr U_A._J_m_u‘%nmo Hm.m:._
o
Pl @ X Baprsl o L 1) Ho
=
o ﬂnﬂ MOM_m bo 7] «w o
— ;O._ pl = mﬂl
zTW;mm4o7dﬂ6@,WW%mmM%ﬂlﬁu
%CWWxﬂﬂoo% R e
E._oK_ 7%;%0_&%}
Tk SR E|lm & 8 8 B|x oo
oA BT S Mo = o
o} Lo L o
= X° W° B RO |®R we e
\/ZJ-‘LI\/‘X‘_OI\_:JL@OSZI —_
R S R~ =0 o X
BTN BT e BE Y T
lo = == =
T oo o% ool |EEEEE e o
UAIO
,mom,x.v/ﬂofn
ﬂAI.iOEO
ﬂHW\I?
HTL.xﬁo
wﬂAoT
N

5. F= IAAHA 3O HPE =2 A%

524 A4

===

do

T
73

o

=
o

O AlF-IAlS A

5 W

3 AlgA
I=E 2171H| A QA

(

o] ZL
AR

O

6.

o
B
=

mﬂ
e

T 2 g|le
O
S A
S i
(@]
S e
<t
S 1A
S e
o
SHl o ofw
XA
(N
S . o |
SRS —
&
0

m | TH w
3 3! 0 &o
ww wm e _% =
T | |d o
w [N 2|
k| F Y
—_ |=x| 3= jolo
= . ~ X
WO | ok Mo mk

M_ﬂ No MR o<

jant

ol= N




